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Topic:- GENERAL HINDI

1) GAvg’ & I faede A & @ &l @1 32
1.d + 3G
2.3dT + 3G
3.8d + B4l
4.3d + 3G

Correct Answer :-

° é\a- + g?;.\r

2) “grgrl O A& ar ATl 3T AR-HR TEHERI 1 H IreiFR Y -
1. ATADIHIOT

2. ®Uh

3. JHb
4. 8Y

Correct Answer :-

3) g & fore @t wigaT arer aeat #ir GfFd Fr T
1.|d, 3fe, e
2. 99, 3%, o=
3.94, 3R, ogsiar
4. |y, 3Tfe, Hofar



Correct Answer :-

. oy, 3fy, g

4) oI 3ANET - HeraR & 7Y v Rwedl & & wlq a1
1. UATA hIAT

2. SIITET P Pl dAR &l

3. ufasr J e

4. Y A qd BT

Correct Answer :-

5) 3¢ - 3IYWH A qa7 eeg AT H & *le7 @r B2
1. 3T
2. 3EA
3. A
4, HET

Correct Answer :-

6) - # A & & *la @1 A §7
1. 3TAHTT GATH

2. A3 HATE

3.6 HAH

4. T waTE

Correct Answer :-

7) ‘TF & GHT A @eT arer F O vH oreg AeAfaf@d #F ¥ & @ §2



1. QTATAT
2. GHHATHRART
3. GAAHARD
4. HIATRAD

Correct Answer :-

8) fatredea - & Y ® et & @ =7 B2
1. fAareFd
2. faRraremFa
3. faRraTerFer
4. TRgerFa

Correct Answer :-

9) ‘QaTET eg T fAAH FABT
1. [ear

2. 37T,

3. 89

4. il

Correct Answer :-

10) “HIqea” Ueq 82
1. #ATd dIdh
2. SRhardaed
3. Sfdaras

4. g AT



Correct Answer :-

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
I want to see the color of his money before I say that the car is his.

1. make sure that he is paid enough money for it

2. make sure that he has no black money

3. make sure that there are no counterfeit notes

4. make sure that he has enough money to pay

Correct Answer :-

« make sure that he has enough money to pay

2) A sentence with an underlined word is given below. Choose the correct option which is closest
in meaning to the underlined word.
There is a large swamp that has to be cleared before the construction can begin.

1. sandy land

2. forest

3. prairie

4. wetland

Correct Answer :-

« wetland

3) Out of the following four options, choose the incorrect sentence:

1. If the dog is a man's best friend then why is the word “dog” a word of abuse?

2. The most incurable disease that mankind suffers is nothing but the disease of conflict.
3. Kolar mines are the more deeper compared to those of Europe and America.

4, Humanity is what makes man a better animal in the animal kingdom.



Correct Answer :-
« Kolar mines are the more deeper compared to those of Europe and America.

4) Out of the following options, choose the correct form of adverb for the given sentence:
Although we often use “Speed” and “Velocity” interchangeably in the technical sense, “speed” is
not always “velocity”.

1. similarly

2. as like

3. the same as
4, as alike as

Correct Answer :-

o the same as

5) Out of the following options, choose the most appropriate usage to fill in the blank:
Working parents may for their absence from home by spoiling their children.

1. overemphasize
2. overbalance
3. overdrive

4. overcompensate

Correct Answer :-
» overcompensate

6) Out of the following options, choose the correct form of verb that is in agreement with the
subject for the given sentence:
This car on petrol.

1. runs
2. 1Tun
3.1s run

4. ran

Correct Answer :-



7) Out of the following options, choose the most appropriate tense that best fills in to complete
the given sentence:

I am sure, we her there.
1. will found

2. will find

3. finding

4. find

Correct Answer :-

« will find

8) Choose the option that correctly sequences the following sentences.

1. To his horror, Harris realized that he was looking at a person on fire.

2. Last year, Derrick Harris was driving his 18-wheel truck down a highway when he spotted a
fire ball in a drainage ditch.

3. The victim, a homeless man who had been set on fire, suffered severe burns.

4. The 36-year-old pulled his truck over, grabbed a blanket, ran to the man and smothered the
flames.

5. Curiously, the fire seemed to be moving.

1. 24135
2.45312
3.42153
4.25143

Correct Answer :-

« 25143

Topic:- GENERAL KNOWLEDGE

1) The Environmental Planning & Coordination Organisation (EPCO) of Madhya Pradesh government
was established in the year ./



ALY YU WHPR F IATE0T Aorel HR TAaq Foroa ($heism) st af & vofRa frar =m an
1. 1981
2.1972
3. 2004

4. 1991

Correct Answer :-

2) In Madhya Pradesh, "The Lakshmibai National Institute of Physical Education” is located in which
of the following districts? /

ae SR & for Rorat § “agfiard Axma $wdiege oifw fhforma Toesm fRua 32
1. Gwalior / arferRR

2. Indore / 3k

3. Ujjain / 3soid

4, Bhopal / &arer

Correct Answer :-

« Gwalior / 7arfer—x

3) Makhanlal Chaturvedi, the noted Hindi poet from Madhya Pradesh won the first ever Sahitya
Akademi award for Hindi Literature in 1955 for which of his following works? /

1955 ¥ e U & Ul fEd i wraara agdd) A R witw & e gdyyw ifew srere
WREHR 39 DI A 9 $rd & forg <ftar urz

1. Yug Charan / JJT =XOT

2. Matha / #o

3. Him Tarangini / &1 axfaol
4. Him Kiritini / a1 fepdife=
Correct Answer :-

 Him Tarangini / f&a aifaroft

4) The 12" ASEAN Defence Ministers Meeting and the 5th ADMM-Plus Meeting was held on 19th and 20th
October 2018 in which country? /



19,20 FEAN, 2018 F 127 IR @ AR i Yo7 A 5T EwwATH-CAw doF g N T @
& & mafara B arar an

1. South Korea / gf&or spifiar
2. India / ARG

3. Vietnam / faaa=re

4. Singapore / FHIMQY
Correct Answer :-

« Singapore / Mg

5) Pandit Jasraj is associated with which one of the following fields? /
Ufa s fArafaf@d el & ¥ e defta §2

1. Literature / @ifeca

2. Music / @afid

3. Dance / gca

4. Sanskrit / HEpd

Correct Answer :-

« Music / @i

6) Union cabinet in Oct-2018 approved establishment and operationalization of permanent campuses of 2 new
IISER’s, one at Tirupati and the other at which place? /

gAY 2018 H FHT Ffeie o 2 AC ISIETHSIN F TR RET A w9 i gRawew=T F#;
wpfa & §), v fasefa # 3, 3k quu v vue w2

1. Pune/ EUT
2. Bhopal / AT

3. Mohali / HTgTell
4. Berhampur / sTeTYY
Correct Answer :-

e Berhampur / STergY

7) Ramakrishna mission was founded by Swami Vivekananda in which one of the following years? /



TGO B 1 T e RdwEE qE Pt § @ e af # o o
1. 1935
2. 1900
3. 1887

4. 1897

Correct Answer :-

8) In which of the following places in Madhya Pradesh, the first ever private sector small arms
manufacturing plant in joint venture with Israel was inaugurated in May 2017? /

7S 2017 HALT WA F At F ¥ Fl & T H oS & W WIFA 36IA H FIVAH I15d< &
oY o fAATT WIT 1 3eEred fhar aar ar

1. Mhow / &g

2. Jabalpur / ST€elqX
3. Bhopal / #arer

4. Malanpur / HTTIYX

Correct Answer :-

* Malanpur / HTTAYX

9) Where in Madhya Pradesh is the biggest manmade lake in India located? /
ALY YU # HART 7 e 991 AW AfAT sfiar wal ua &2

1. Raisen / T8«

2. Ujjain / 3soie

3. Hoshangabad / &IRITTdTG

4, Bhopal / #arer

Correct Answer :-

 Bhopal / Hrdret

10) Which fruit produced in Bihar has received the Geographical Indication tag in Oct 2018? /

faer # scuia i & v F wga¥ 2018 F stafAF AhA ar wred gaw 2



1. Nashik Grapes / AT 30

2. Alphonso Mango / 3TwTal 31TH

3. Banarasi Langra Mango / IeREY 3781 3TH
4. Shahi Litchi / mér &t

Correct Answer :-

o Shahi Litchi / el ot

Topic:- GENERAL REASONING

1) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
A & o sfEon FEWT T FEAH FT A TAT FE | o G T

(i) TEREI&HSDKIKD

(ii) TEREI&HSDKJIKD

(iii) TEREI&HSDKJIKD

(iv) TEREI&HDSKIKD

2) Find the missing number: / o §&AT AT FX:
14,19,29,49,89, _ 329

1. 139

2. 149

3.159

4. 169

Correct Answer :-



3) If ROME is written as MORE then DARE is written as : /

If¢ ROME ® MORE & ¥ # for@m oitar § @' DARE &I fawst ¥ & for@r smean?
1. RDEA

2. RAED

3. RDAE

4. RADE

Correct Answer :-

 RADE

4) X, Y and Z can complete a piece of work in 24, 5 and 12 days respectively. Working together,
they will complete the same work in ./

X, Y3 20F &7 & T AT 7 FAM: 24,5 3R 12 & & AT FT G&a &1 & 9T
mmgu,a‘mm:ﬁ H AT HT AN

1 1
2_days/ 2—feo
y FEE R

1 1
3_days/ 3—feo
, TR

1 1
5_days/ 5—fea
5, R

1 1
4—days/ 4—f&aT
4. BSEEE

Correct Answer :-
g2 s /3 ot GG
13 - 13

5) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

frafaf@a fu v ar yal & § AT Re a1v ad F A+ TAT FiT q1 vF 747 &7

Parc Mail — Batiment D 523 Cours du Troisiéme Millénaire,
69800 Saint-Priest, France
+33 437 4949 50



(i) Parc Mail — Batiment D 523 Cours du Troisiéme Millénaire,
69800 Saint-Priest, France
+33 437494950

(ii) Parc Mail — Batiment D 523 Cours du Troisieme Millénaire,
69800 Saint-Priest, France
+33 4 37 49 49 50

(iii) Parc Mail — Batiment D 523 Cours du Troisi@€me Millrnaire,
69800 Saiint-Prijst, France
+33 437 49 49 50

(iv) Parc Mail — Batiment D 523 Cours du Troisiéme Millénaire,
69800 Saint-Priest, France
+33 437494950

4, 1ii

Correct Answer :-

6) Find the average. /3d AT
80, 89, 85, 83, 85 & 82

1. 86

2. 84

3. 83

4. 87

Correct Answer :-

. 84

7) In a group of 72 people, 46 of them like tea, 63 of them like coffee and each person likes at
least one of the two drinks. How many people like both tea and coffee? /

72 ARTl & TP TG H, STH I 46 B 919 UHE §, S8 A 63 P HIB! UHg ¢ R TS Afad &l 1g d
Y PH A $H TP Wig HIdl &1 faq TN I 3R H1P! Sl WG B 82

1. 35



2.37
3.38
4. 36

Correct Answer :-

e 37

Topic:- PEDAGOGY

1) A provision for education for the children with disabilities can be done
through: /

feeamer s=at fr RNaw & AT yrau=, @A & Aegw F & GFaT &
1. Integral education / TRl A&

2. Progressive education / GaTfaRfer vt

3. Only establishing special schools / %hae fafrse Q-T-Fvﬁ Hr TATAT
4. Inclusive education / THTARM fY&T

Correct Answer :-

« Inclusive education / FATALM e

2) An extravert is usually: /
AT afgsE gar 8
1. Anxious / <qIHel

2. Less talkative / @hd ITdaid el dToll

3. Thoughtful / Ta=mefrer
4. Out-going / 3T3camsdr (fReaaR)

Correct Answer :-

« Out-going / T3casd (fHe=TaR)

3) The highest level of cognitive domain is: /

HAATCHS AT 8T & 3=adH Tl &



1. Application / HW

2. Evaluation / HedTdhed
3. Analysis / fagwor

4. Synthesis / AU
Correct Answer :-

« Evaluation / HgdTehel

4) Life skill education is needed to i
SaeT lerer fve F foT T+ gl

1. Solve social problems / HTHTTSIh THTATIHT Pl Tl B
2. face the challenges in life effectively / Sfiael & ffﬁﬁ?ﬁ P ATHAT JHATAT T T A

3. adopt one’s own culture / TIF Y GERIT DI T

4. enhance vocational efficiency / IIHTA® G&TAT Bl dEl

Correct Answer :-

. face the challenges in life effectively / Shiae & ?:[Fﬁﬁ?’:ﬁ BT TTHAT JHTT T F A

5) In the context of education, socialization means: /
frem & Aot A, WIS HIOT &7 I

1. adapting and adjusting to social environment / TTHTToIh ATATAROT 3 IRl 3R
AT

2. teaching children about social needs / HHATSD STl & IR H gdl Dl U

3. questioning the mores and taboos / Jfd-Rarei @ JoIAT3T W T 37T

4. creating one’s own social norms / Ul TIY & HIHANSAD ATAGS TATeAT

Correct Answer :-

. adapting and adjusting to social environment / HIHIToIh ATATAROT H Rl 3R

6) A child with learning disability typically manifests which one of the following
problems? /



I RFEEET I 73 A Aaff@d & ¥ 9 & 78 3rHak W gFve @ 22
1. Physical agility problems / TRIR THic FATATT
2. Social inhibition / ATATToTR AT

3. Speech problems / dTep HHEATT

4, Left right orientation problems / STT-gIT y.—aiu,ﬂqm{w HAEITU

Correct Answer :-

« Left right orientation problems / STT-gIT y.—aiu,ﬂqm{w HAEITU

7) A gifted child is not likely to exhibit which of the following characteristics? /
s gfasmermel sTar Aeafaf@a & & e Rdvanet & wgiia & swar 82

1. Critical analysis / 3TTelldellcHd fa&ToT

2. Conformist attitude / 3fJ®UETEr T

3. High intelligence / 3Td @

4. High achievement / 3T 3Uclieddl

Correct Answer :-

« Conformist attitude / 3-@'503’@ &

8) Word Association Test was first used by Carl Jung in: /

FTel G A Ygell IR T8 TAIATAST S¥C FT AT fAFT av F fear o
1. 1909

2.1922

3.1912

4. 1848

Correct Answer :-

9) Brain-Storming Teaching Strategy was introduced by i

ser-¥eifear Rrator wrEfa # & garT ger A I o



1. Osborn / 3irddie]
2. Joyce / S|
3.Kolb / @led

4. Chester / TEX

Correct Answer :-

« Osborn / 3NTdlT

10) According to Kolb, trying out what you have learned happens in which of the
following stages? /

Fled F HTAR, IR N Fo A1 § 38 Aafaf@a & & g wor & sreamn srar
2

1. Concrete experience / 31?5[ AJAd

2. Abstract Conceptualization / 3ﬂ§-cf S EUIRNI)
3. Active experimentation / Tfshd TATIT

4. Reflective observation / Ideeliel 3deiiehe

Correct Answer :-

. Active experimentation / T TAIT

11) Alfred Adler introduced the concept of: /

3HeWs TS o foleeT &Y JATUROM & 92 fomam:

1. Oedipus complex / 3ifeud Y (HifZud wHrecaad)

2. Mind mapping / HS3 AT

3. Inferiority complex / & HIAAT (Z=hRANNE FHrFCtelay)

4. Mental hygiene / HATATHE TITS

Correct Answer :-

« Inferiority complex / & HIGAT (S=hRATRET BIFCeldd)

12) Which one the following reasoning process happens from general to specific?
/



farff@d & @ Fia @ aF ik, gE=T @ [Afse i 3R ad 272
1. Inductive / JTITHATCHD

2. Critical / GHI&TcHS
3. Deductive / TATHAATCHS

4. Evaluative / HoTehellcdD

Correct Answer :-

« Deductive / fTHATCHS

13) Which one of the following is a product of learning? /
farfaf@a & ¥ =l ar sftes &1 v aftomw @2

1. Skills / ehlrel

2. Maturation/ UG

3. Abilities / JTAAT

4. Talents / UfdaT

Correct Answer :-

« Skills / iareT

14) Which of the following is a free, open source LMS? /
frrfaf@a #F & Fla @1 tF JF9, gar AT LMS (TITATH) 77?
1. Britannica / Tercfaenr

2. Moodle / Hgol

3. Blackboard / Solpdls

4. Paradiso / tRifg@r

Correct Answer :-

e Moodle / #Hgel

15) The founder of Pedagogy as an academic discipline was: /

A& IreTeamEeT F T A RemET F FEUHF &



1.B. F. Skinner / &l.U%. &y

2. John F. Herbart / Sfd TH. TIaC
3. John Dewey / S 3

4. H.C. Morrison / TT.HT. ARAS

Correct Answer :-

« John F. Herbart / Slid TH. &EC

Topic:- ENGLISH

1) Who remarked about Nirad C. Chaudhuri’s autobiography, The Autobiography of and Unknown
Indiam: “No better account of the penetration of the Indian mind by the West - and by extension, of
the penetration of one culture by another - will be or now can be written.”?

1. Winston Churchill
2. M.K. Gandhi
3. Kushwant Singh

4. V.S. Naipaul

Correct Answer :-

« V.S. Naipaul

2) Identify the figurative language apparent in the following lines:
And now there came both mist and snow,

And it grew wondrous cold:

And ice, mast-high, came floating by,

As green as emerald.

1. Ambiguity

2. Synesthesia

3. Simile

4. Allusion

Correct Answer :-

o Simile



3) The following lines from Stephen Spender’s Not Palaces, an Era’s Crown provide an example for
which figurative trope?

Eye, gazelle, delicate wanderer,

Drinker of horizon's fluid line
1. Epic Simile

2. Symbol

3. Metaphor

4. Simile

Correct Answer :-

« Metaphor

4) The curfew tolls the knell of parting day,
The lowing herd wind slowly o’er the lea,

The plowman homeward plods his weary way,
And leaves the world to darkness and to me.

Now fades the glimm’ring landscape on the sight,
And all the air solemn stillness holds,

Save where the beetle wheels his droning flight,
And drowsy tinklings lull the distant folds:

Which is the poetic meter in the lines?
1. Anapest

2. lambic tetrameter

3. lambic pentameter

4. Trochee

Correct Answer :-
« Jambic pentameter

5) From which Act and Scene of The Tempest did Aldous Huxley take the title of his dystopian novel,
Brave New World?

1. Act III , Scene II
2. Actl, Scene 11

3. ActV, Scene |

4, Act III, Scene 1



Correct Answer :-

o ActV, Scene I

6) She sweeps with many — colored brooms,

And leaves the shreds behind;

Oh, housewife in the evening west,

Come back, and dust the pond! - Emily Dickinson

Which is the figure of speech that runs along the lines?

1. Parody

2. Personification
3. Metaphor

4. Simile

Correct Answer :-

o Personification

7) "Come forth into the light of things,
Let Nature be your teacher...”

Identify the poetic device in these lines.

1. Irony

2. Antithesis

3. Personification

4. Contrast

Correct Answer :-

o Personification

8 CANCELLED

The figure of speech ‘personification’ is also known as:
1. Persopolis
2. Prosopopeia

3. Metaphor



4. Simile

Correct Answer :-

« Prosopopeia

9 CANCELLED

The figure of speech ‘personification’ is also known as:
1. Persopolis

2. Prosopopeia

3. Metaphor

4. Simile

Correct Answer :-

« Prosopopeia

10) Choose the option that best transforms the sentence into its active voice:
It is time for the match to be started.

1. The match be started on time.

2. It was time for the match to start.

3. It is time to start the match.

4, Starting the match is on time.

Correct Answer :-

« It is time to start the match.

11) Choose the option that best transforms the sentence into its passive voice:
Did your mother cook your favourite dish on your birthday?

1. On your birthday did your mother cook your favourite dish?

2. Was your favourite dish cooked by your mother on your birthday?

3. Was your favourite dish being cooked by your mother on your birthday?

4. Was your mother cooking your favourite dish on your birthday?



Correct Answer :-

« Was your favourite dish cooked by your mother on your birthday?

12) Choose the option that best transforms the sentence into its passive voice:
Who is making all that noise?

1. All that noise is made by who?

2. By whom is all that noise being made?

3. By who is all that noise made?

4. That noise is make by who?

Correct Answer :-

« By whom is all that noise being made?

13) Fill in the blank with the appropriate article.

My friend is livingin ___ apartment, and it is a new one.
1. no article

2. the

3.a

4, an

Correct Answer :-

14) Choose the appropriate prepositions for the given sentence:

We had lunch ______ the airport, while we were waiting ____ flight to take off.
1. on, away

2.in, in

3. by, upon

4, at, for

Correct Answer :-



15) Choose the option with the appropriate prefix that forms the antonym of the underlined word
in the given sentence.

A corroborated theory has no higher epistemological status than any unfalsified theory.
1. incorroborated

2. discorroborated

3. noncorroborated

4. uncorroborated

Correct Answer :-

« uncorroborated

16) Name the collection of poems in which Frost’s “The Road Not Taken” was first published.
1. North of Boston

2. A Boy's Will

3. Selected Poems

4. Mountain Interval

Correct Answer :-

o Mountain Interval

17) This writer was widely acknowledged for the inclusion of both Punjabi and Hindustani
idioms into writing. Name the author.

1. Raja Rao
2. R.K. Narayan
3. Mulk Raj Anand

4. Anita Desai

Correct Answer :-

« Mulk Raj Anand



18) In which year did Robert Frost win his first Pulitzer Prize?
1. 1924
2. 1931
3.1937
4, 1943

Correct Answer :-

« 1924

19) Who according to the narrator in Lamb’s essay “Dream Children” attended Grandmother
Field’s funeral?

1. Lady C, Alice, and Bartrum
2. The rich and powerful owners of the Norfolk house
3. The poor and some gentry of the neighborhood

4. No one from the neighborhood attended the funeral

Correct Answer :-

« The poor and some gentry of the neighborhood

20) Who is considered as the first poet in the lineage of Indian English poetry?
1. Toru Dutt

2. Sarojini Naidu

3. Rabindranath Tagore

4. Henry Louis Vivian Derozio

Correct Answer :-
« Henry Louis Vivian Derozio

21) Who justified the use of satire saying '"those who are ashamed of nothing else are so of being
ridiculous'?

1. John Dryden



2. Alexander Pope
3. Jonathan Swift

4. Ben Jonson

Correct Answer :-

« Alexander Pope

22) Who did Frost say the poem “The Road Not Taken” was really about?
1. Edward Thomas

2. Edgar Allan Poe

3. Ezra Pound

4. Walt Whitman

Correct Answer :-

« Edward Thomas

23) Who first introduced sonnet into England?
1. Shakespeare

2. Thomas Wyatt

3. Earl of Surrey

4. Edmund Spenser

Correct Answer :-
« Thomas Wyatt

24) Who commented that “When Mr. Wordsworth ceases to please, it is by “abandoning” his
mind to the most common place ideas, at the same time clothing them in language not simple,
but puerile”?

1. Francis Jeffrey
2. S.T. Coleridge

3. Charles Lamb



4. Lord Byron

Correct Answer :-

« Lord Byron

25) Wordsworth’s sonnet “The World Is Too Much With Us” is a sonnet.
1. Spenserian

2. Shakespearean

3. Petrarchan

4, English

Correct Answer :-

o Petrarchan

26) In 1915, to whom did Robert Frost sent the draft of “The Road Not Taken”, under the title,
“Two Roads”?

1. T.S. Eliot
2. Edward Thomas
3. Ezra Pound

4. Alfred Tennyson

Correct Answer :-

o Edward Thomas

27) The antiquarian in reference was described as 'the most lovable figure in English
literature" by his biographer, E.V. Lucas. Who is mentioned thus?

1. Dr. Samuel Johnson
2. Bill Bryson
3. Richard Monckton Milnes

4. Charles Lamb

Correct Answer :-



« Charles Lamb

28) As Bees

In spring time, when the Sun with Taurus rides,
Pour forth their populous youth about the Hive
In clusters; they among fresh dews and flowers
Fly to and fro, or on the smoothed Plank,

The suburb of their Straw-built Citadel,

New rubb'd with Balm, expatiate and confer
Their State affairs. So thick the aery crowd
Swarm'd and were strait'n'd;

The above lines contain an example of :

1. Euphemism

2. Euphuism

3. Epic similes

4. Enlightenment

Correct Answer :-

« Epic similes

29) What is the term that refers to paradoxical utterance that conjoins two terms that in
ordinary usage are contraries?

1. Oxymoron

2. Encomiastic

3. Onomatopoeia

4. Objective correlative

Correct Answer :-

« Oxymoron



30) What is the type of conceit in the oxymoronic phrases like “pleasing pains” and “loving
hate” found in Elizabethan love poetry?

1. Donne’s

2. Fatal

3. Petrarchan

4. Metaphysical

Correct Answer :-

o Petrarchan

31) What is the term for the deconstructionists’ claim that all uses of language disseminate
themselves into the unresolvable paradox?

1. aporia
2. différanc
3. telos

4. en abim

Correct Answer :-
 aporia

32) What term does Saul Bellow use to summarize Wordsworth’s theme in the sonnet “The
World Is Too Much With Us”?

1. Industrialization
2. Marxism
3. Liberation

4. Alienation

Correct Answer :-

« Alienation

33) What disease ailed grandmother Field according to the narrator in Lamb’s essay “Dream
Children”?



1. Cancer

2. Wheezing
3. Gout

4. Gangrene

Correct Answer :-

« Cancer
34) What was the complex stanza pattern of Pindaric odes?

1. Moving in a dance rhythm to the right, the chorus chanted the strophe; moving to the left, the
antistrophe; then, standing still, the epode

2. Moving in a dance rhythm to the left, the chorus chanted the strophe; moving to the right, the
antistrophe; then, standing still, the epode

3. Moving in a dance rhythm to the left, the chorus chanted the epode; moving to the right, the
antistrophe; then, standing still, the strophe

4. Moving in a dance rhythm to the left, the chorus chanted the antistrophe; moving to the right, the
strophe; then, standing still, the epode

Correct Answer :-

« Moving in a dance rhythm to the left, the chorus chanted the strophe; moving to the right, the
antistrophe; then, standing still, the epode

35) Complete the sentence with the appropriate adverb.
He ate the sweets

1. greedily

2. greed

3. greedier

4. greedy

Correct Answer :-
« greedily

36) Complete the sentence using the appropriate form of the verb.



My colleagues lunch in the canteen.
1. will be have

2. 1s having

3. has been having

4, are having

Correct Answer :-

« are having

37) In the line “That reed was too frail to survive the storm of its sorrows”, the vehicles “reed”
and “sorrow” indicate tenors.

1. implicit

2. explicit

3. unequivocal

4. overt

Correct Answer :-
« implicit

38) According to Bacon. “For a crowd is not company; and faces are but a gallery of pictures;
and talk but a tinkling cymbal, where there is no .

1. love
2. sadness
3. anger

4, fear

Correct Answer :-

e love

39) According to Bacon, in his essay “Of Studies”, why should one read?

1. To weigh and consider



2. To believe and take for granted
3. To find talk and discourse

4. To contradict and confute

Correct Answer :-

« To weigh and consider

40) Frost’s “After Apple Picking” was first published in:
1. North of Boston

2. A Boy's Will

3. Selected Poems

4. Mountain Interval

Correct Answer :-

« North of Boston

41) Among the poems mentioned below, which one falls into the category of a Sonnet?
1. Ode to a Skylark — P.B. Shelley

2. The Road Not Taken — Robert Frost

3. The World Is Too Much With Us — William Wordsworth

4, Gitanjali — Rabindranath Tagore

Correct Answer :-

o The World Is Too Much With Us — William Wordsworth

42) L.A. Richards called those aspects, properties, or common associations of a vehicle which, in
a given context, apply to a tenor of a metaphor.

1. grounds
2. aspects
3. dregs

4. vehicles



Correct Answer :-
« grounds

43) Which of the following is considered to have inspired Wordsworth’s poem ‘The Solitary
Reaper’?

1. Thomas Wilkinson’s Tours of the British Mountains

2. Walter Scott’s Waverley

3. Walter Scott’s Rob Roy

4. Samuel Johnson and James Boswell’s Into Scotland: Journey to the Hebrides

Correct Answer :-

o Thomas Wilkinson’s Tours of the British Mountains

44) Which of Aldous Huxley’s novels’ titles is taken from Wordsworth’s poem ‘The Tables
Turned’?

1. Antic Hay
2. The Doors of Perception
3. Brave New World

4. Those Barren Leaves

Correct Answer :-

« Those Barren Leaves

45) Which poet was named as the Poet Laureate of Vermont?
1. William Hazlitt

2. Ezra Pound

3. Robert Frost

4, W.B. Yeats

Correct Answer :-

o Robert Frost



46) Which are the two birds that the poet wants the pedant to learn from in Wordsworth’s poem
“The Table Turned”?

1. Lark and finch
2. Thrush and jay
3. Linnet and throstle

4, Skylark and nightingale

Correct Answer :-

 Linnet and throstle

47) Which are the four Shakespearean plays that have a masque-within-the-play?
1. Othello, The Tempest, Twelfth Night, Macbeth

2. Macbeth, The Tempest, Othello, Henry VIII

3. A Midsummer Night's Dream, Romeo and Juliet, Henry VIII, The Tempest

4. Romeo and Juliet, The Tempest, Twelfth Night, Othello

Correct Answer :-
o A Midsummer Night's Dream, Romeo and Juliet, Henry VIII, The Tempest

48) Which critic said that ‘The charming idyll, “After Apple-Picking” is dusted over with
something uncanny...’?

1. Cleanth Brooks

2. Robert Penn Warren
3. Reuben A Brower
4. Amy Lowell

Correct Answer :-

« Amy Lowell

49) Which two works of fiction recording the history of the house and its children does the
narrator mention in Lamb’s essay “Dream Children”?

1. ‘Children in the Wood’ and ‘Robin Redbreast’



2. ‘Children at the Norfolk House’ and ‘Grandmother Field’
3. ‘Robin Hood’ and ‘The Red Riding Hood’
4. ‘Robin Hood’s Children’ and ‘Grandmother Field’s Norfolk House’

Correct Answer :-

« ‘Children in the Wood’ and ‘Robin Redbreast’

50) Which great event is reflected in the sonnet, “The World is Too Much with Us”?
1. Baroque Movement

2. Industrial Revolution

3. Chartist Movement

4. Suffrage Movement

Correct Answer :-

« Industrial Revolution

51) Which poem did Frost call as “My best bid for remembrance”?
1. Mending Wall

2. After Apple Picking

3. The Road Not Taken

4. Stopping by Woods on a Snowy Evening

Correct Answer :-
« Stopping by Woods on a Snowy Evening

52) Which among the following is NOT the fault of character that Chaudhuri’s mother wouldn’t
tolerate at all?

1. Moral cowardice
2. Dishonesty
3. Self-pity

4, Meanness



Correct Answer :-

« Self-pity

53) Choose the appropriate synonym for the underlined word in the given sentence.
His explanation failed to mollify her.

1. disconcert

2. unsettle

3. perturb

4. placate

Correct Answer :-

« placate

54) Choose the appropriate synonym for the underlined word in the given sentence.
He charged a relatively modest fee.

1. vain

2. diffident

3. conceited

4. immodest

Correct Answer :-

« (iffident

55) Choose the appropriate adjective clause from the options to complete the given
sentence.

I met the boy

1. who ran as soon as [ saw him
2. who broke the window

3. who then returned my purse

4. who then shook my hands



Correct Answer :-

o who broke the window

56) Choose the appropriate adjective clause from the options to complete the given
sentence.

The time ______ is not revealed.
1. the prisoner’s relocation

2. as the prisoner was relocated
3. of the relocation

4. when the prisoner is relocated

Correct Answer :-

« when the prisoner is relocated

57) Choose the appropriate articles to complete the given sentence.
____word to ____ wise is sufficient.

1. The, a

2. The, the

3.A,a

4. A, the

Correct Answer :-

58) Choose the appropriate antonym for the underlined word in the given sentence.
It is often the one blot on an otherwise noble character.

1. gallant

2. unnoble

3. moral

4. ignoble



Correct Answer :-

« ignoble

59) Choose the appropriate noun form to complete the given sentence.
Several were broken.

1. furniture

2. pieces of furniture

3. pieces of furnitures

4, piece of furniture

Correct Answer :-

« pieces of furniture

60) Choose the most suitable determiner for the given sentence.
_____ agree with the democrats.

1. Many of people

2. Much people

3. Most people

4. Most of people

Correct Answer :-

« Most people

61) Choose the correct tense form of the verbs to complete the given sentence.
I himin Delhi in 1996. The last I him was five years before.

1. had met, had seen

2. had met, seen

3. met, had seen

4. met, seen

Correct Answer :-



o met, had seen

62) Choose the option with the appropriate suffix that forms the synonym of the
underlined word in the given sentence.

She was listless, apathetic, calm with the calmness of a woman who knows she can suffer no
further.

1. fretful
2. restless
3. restful

4. restive

Correct Answer :-

« restful

63) Choose the option that changes the given conversation into indirect speech.
I said to him, “I don’t believe you.”

1. She said to him that he didn’t believe her.

2. He said she didn’t believe him.

3. I said that he didn’t believe me.

4. | said that I didn’t believe him.

Correct Answer :-

« [ said that I didn’t believe him.

64) Choose the option that changes the given conversation into indirect speech.
He said to him, “Please wait here till I return.”

1. He wondered if he will wait here till I return

2. He said “wait there till he returned.”

3. He requested him to wait there till he returned.

4. He ordered him to wait here till I returned.



Correct Answer :-

« He requested him to wait there till he returned.

65) Choose the option that is the antonym of the underlined word in the given sentence.
The only plausible explanation is that he forgot.

1. tenable

2. credible

3. impregnable

4. incredible

Correct Answer :-

« incredible

66) Choose the appropriate form of the verb to complete the given sentence.
The details __ a matter for future consideration

1. are

2. has

3.1s

4, have

Correct Answer :-

67) Choose the appropriate modal to complete the given sentence.
Certainly, I ___ carry your books.

1. will

2. might

3. need

4. may

Correct Answer :-



68) Choose the appropriate modal to complete the given sentence.
____ this be true?

1. Ought to

2. May

3. Can

4. Do

Correct Answer :-
e Can

69) “Good friend for Jesus sake forbear. /To dig the dust enclosed here. /Blessed be the man that
spares these stones, / And cursed be he that moves my bones”.

On whose tomb are the above lines inscribed?
1. Francis Bacon

2. William Shakespeare

3. P.B. Shelley

4. Bernard Shaw

Correct Answer :-

« William Shakespeare

70) Fill in the blanks with the appropriate conjunctions.
__ had heleft, ____ the police knocked at the door.
1. No sooner, when

2. No sooner, but

3. Scarcely, when

4. Scarcely, than

Correct Answer :-



 Scarcely, when
71) Fill in the blank with the appropriate phrase preposition.
his dying without an issue, his sister would inherit the property.
1. In lieu of
2. In front of
3. In the event of

4. In place of

Correct Answer :-

« In the event of

72) Fill in the blank with the appropriate conjunction to complete the given sentence.
Tom will be late to work  he has a dental appointment.

1. moreover

2. because

3.0r

4, but

Correct Answer :-

» because

73) Change the active voice sentence into passive voice from the appropriate option.
The panda is eating bamboo shoots.

1. Bamboo shoots was being eaten by the panda.

2. Bamboo shoots has been eaten by the panda.

3. Bamboo shoots are being eaten by the panda.

4. Bamboo shoots are eaten by the panda.

Correct Answer :-

« Bamboo shoots are being eaten by the panda.



74) Twas on a lofty vase’s side,
Where China’s gayest art had dyed
The azure flowers that blow;
Demurest of the tabby kind,

The pensive Selima, reclined,
Gazed on the lake below.

Her conscious tail her joy declared;
The fair round face, the snowy beard,
The velvet of her paws,

Her coat, that with the tortoise vies,
Her ears of jet, and emerald eyes,
She saw; and purred applause.

Which genre of poetry does this poem classify as?

1. Ode
2. Blank verse
3. Elegy

4. Mock heroic

Correct Answer :-

o Mock heroic

75) Twas on a lofty vase’s side,
Where China’s gayest art had dyed
The azure flowers that blow;
Demurest of the tabby kind,

The pensive Selima, reclined,
Gazed on the lake below.

Her conscious tail her joy declared;
The fair round face, the snowy beard,
The velvet of her paws,

Her coat, that with the tortoise vies,
Her ears of jet, and emerald eyes,
She saw; and purred applause.

“The fair round face, the snowy beard’ — which rhetoric is used in this line?
1. Parody

2. Alliteration

3. Humor

4. Simile



Correct Answer :-

o Alliteration

76) Read the following excerpt and answer the question that follows:

Chomsky gave three lectures under the general title “What Kind of Creatures are We?” The
answer given in the first lecture — “What is Language?” — is that we are creatures with
language, and that language as a uniquely human biological capacity appeared suddenly and
quite late in the evolutionary story, perhaps 75,000 years ago. Language, then, does not arise
from the social/cultural environment, although the environment provides the stuff or input it
works on. That input is “impoverished”; it can’t account for the creativity of language
performance, which has its source not in the empirical world, but in an innate ability that is
more powerful than the stimuli it utilizes and plays with. It follows that if you want to
understand language, you shouldn’t look to linguistic behavior but to the internal mechanism —
the Universal Grammar — of which particular linguistic behaviors are a non-exhaustive
expression. (The capacity exceeds the empirical resources it might deploy.)

Why is linguistic behavior insufficient to understand language?

1. Because linguistic behavior is only an expression of the internal mechanism
2. Because it is the Universal Grammar of the internal mechanism

3. Because it is the non-exhaustive Grammar of the internal expression

4. Because the internal mechanism is the expression of the linguistic behavior

Correct Answer :-

« Because linguistic behavior is only an expression of the internal mechanism

77) Read the following passage and answer the question that follows.

All great thinkers live and move on a high plane of thought. It is only there they can breathe freely.
It is only in contact with spirits like themselves they can live harmoniously and attain that serenity
which comes from ideal companionship. The studies of all great thinkers must range along the
highest altitudes of the human thought. I cannot remember the name of any illuminative genius who
did not drink his inspiration from the fountains of ancient Greek and Hebrew writers; or such among
the modern as were pupils in ancient thought, and, in turn, became masters in their own. I have
always thought that the strongest argument in favour of the Baconian theory was that no man,
however indubitable his genius, could have written the plays andsonnets that have come down to

us under Shakespeare’s name who had not the liberal education of Bacon.

The magnificent ideas that have ever haunted the human mind, and given us our highest proofs
of a future immortality by reason of the impossibility of their fulfillment here, are splintered into
atoms by contact with life’s realities. Hence comes our sublime discontent. You will notice that



your first sensation after reading a great book is one of melancholy and dissatisfaction. The
ideas, sentiments, expressions are so far beyond those of ordinary working life that you cannot
turn aside from one to the other without an acute sensation and consciousness of the contrast.
And the principles are so lofty, so super-human that it is a positive pain, if once you become
imbued with them, to come down and mix in the squalid surroundings of ordinary humanity. It
may be spiritual or intellectual pride that is engendered on the high plane of intellectual life. A
habitual meditation on the vast problems that underline human life, and are knit into human
destinies - thoughts of immortality of the littleness of mere man, of the greatness of man’s soul,
of the splendors of the universe that are invisible to the ordinary traffickers in the street.

The word ‘squalid’ means:
1. garbed

2. fetid

3. apposite

4, pertinent

Correct Answer :-

« fetid

78) Read the following passage and answer the question that follows.

All great thinkers live and move on a high plane of thought. It is only there they can breathe freely.
It is only in contact with spirits like themselves they can live harmoniously and attain that serenity
which comes from ideal companionship. The studies of all great thinkers must range along the
highest altitudes of the human thought. I cannot remember the name of any illuminative genius who
did not drink his inspiration from the fountains of ancient Greek and Hebrew writers; or such among
the modern as were pupils in ancient thought, and, in turn, became masters in their own. I have
always thought that the strongest argument in favour of the Baconian theory was that no man,
however indubitable his genius, could have written the plays and sonnets that have come down to
us under Shakespeare’s name who had not the liberal education of Bacon.

The magnificent ideas that have ever haunted the human mind, and given us our highest proofs
of a future immortality by reason of the impossibility of their fulfillment here, are splintered into
atoms by contact with life’s realities. Hence comes our sublime discontent. You will notice that
your first sensation after reading a great book is one of melancholy and dissatisfaction. The
ideas, sentiments, expressions are so far beyond those of ordinary working life that you cannot
turn aside from one to the other without an acute sensation and consciousness of the contrast.
And the principles are so lofty, so super-human that it is a positive pain, if once you become
imbued with them, to come down and mix in the squalid surroundings of ordinary humanity. It
may be spiritual or intellectual pride that is engendered on the high plane of intellectual life. A
habitual meditation on the vast problems that underline human life, and are knit into human
destinies - thoughts of immortality of the littleness of mere man, of the greatness of man’s soul,
of the splendors of the universe that are invisible to the ordinary traffickers in the street.



When does the ‘sublime discontent’ originate?

1. When the human mind is haunted by magnificent ideas that give us proofs of a future immortality
2. When magnificent ideas are splintered on contact with life’s realities

3. When the proofs of future are impossible due to mortality

4. With the splintering of the reality when it comes in contact with life

Correct Answer :-

« When magnificent ideas are splintered on contact with life’s realities

79) Read the following passage and answer the question that follows.

All great thinkers live and move on a high plane of thought. It is only there they can breathe freely.
It is only in contact with spirits like themselves they can live harmoniously and attain that serenity
which comes from ideal companionship. The studies of all great thinkers must range along the
highest altitudes of the human thought. I cannot remember the name of any illuminative genius who
did not drink his inspiration from the fountains of ancient Greek and Hebrew writers; or such among
the modern as were pupils in ancient thought, and, in turn, became masters in their own. I have
always thought that the strongest argument in favour of the Baconian theory was that no man,
however indubitable his genius, could have written the plays and sonnets that have come down to
us under Shakespeare’s name who had not the liberal education of Bacon.

The magnificent ideas that have ever haunted the human mind, and given us our highest proofs of a
future immortality by reason of the impossibility of their fulfillment here, are splintered into atoms
by contact with life’s realities. Hence, comes our sublime discontent. You will notice that your first
sensation after reading a great book is one of melancholy and dissatisfaction. The ideas, sentiments,
expressions are so far beyond those of ordinary working life that you cannot turn aside from one to
the other without an acute sensation and consciousness of the contrast. And the principles are so
lofty, so super-human that it is a positive pain, if once you become imbued with them, to come down
and mix in the squalid surroundings of ordinary humanity. It may be spiritual or intellectual pride
that is engendered on the high plane of intellectual life. A habitual meditation on the vast problems
that underline human life, and are knit into human destinies - thoughts of immortality of the
littleness of mere man, of the greatness of man’s soul, of the splendors of the universe that are
invisible to the ordinary traffickers in the street

The word ‘indubitable’ means:
1. inconspicuous

2. disparaging

3. undeniable

4. nondescript

Correct Answer :-

« undeniable



80) Read the following passage and answer the question that follows.

All great thinkers live and move on a high plane of thought. It is only there they can breathe freely.
It is only in contact with spirits like themselves they can live harmoniously and attain that serenity
which comes from ideal companionship. The studies of all great thinkers must range along the
highest altitudes of the human thought. I cannot remember the name of any illuminative genius who
did not drink his inspiration from the fountains of ancient Greek and Hebrew writers; or such among
the modern as were pupils in ancient thought, and, in turn, became masters in their own. I have
always thought that the strongest argument in favour of the Baconian theory was that no man,
however indubitable his genius, could have written the plays and sonnets that have come down to
us under Shakespeare’s name who had not the liberal education of Bacon.

The magnificent ideas that have ever haunted the human mind, and given us our highest proofs of a
future immortality by reason of the impossibility of their fulfillment here, are splintered into atoms
by contact with life’s realities. Hence, comes our sublime discontent. You will notice that your first
sensation after reading a great book is one of melancholy and dissatisfaction. The ideas, sentiments,
expressions are so far beyond those of ordinary working life that you cannot turn aside from one to
the other without an acute sensation and consciousness of the contrast. And the principles are so
lofty, so super-human that it is a positive pain, if once you become imbued with them, to come down
and mix in the squalid surroundings of ordinary humanity. It may be spiritual or intellectual pride
that is engendered on the high plane of intellectual life. A habitual meditation on the vast problems
that underline human life, and are knit into human destinies - thoughts of immortality of the
littleness of mere man, of the greatness of man’s soul, of the splendors of the universe that are
invisible to the ordinary traffickers in the street.

What does the author imply by the phrase, ‘high plane of thought'?
1. The commonness of thinking

2. The companionship in the thinking

3. The humanness in the thinking

4. The loftiness of thinking

Correct Answer :-

« The loftiness of thinking

81) Which of the following is NOT an example of a lyric?

1. When I consider how my light is spent
2. Frost at Midnight

3. Canonization

4, Getting Married

Correct Answer :-

« Getting Married



82) Which of the following is NOT one of the friendships between rulers and their subordinates that
Bacon refers to in his essay “Of friendship”?

1. Severus and Brutus
2. Augustus and Agrippa
3. Pompey and Sylla

4, Caesar and Sejanus

Correct Answer :-
o Severus and Brutus

83) Which of the following is NOT the title of any one of the three books in Charles Dickens’ A Tale
of Two Cities?

1. The Golden Thread
2. The Honest Tradesman
3. The Track of a Storm

4. Recalled to Life

Correct Answer :-
o The Honest Tradesman

84) Which of the following is NOT a piece of advice that Hazlitt gives his son in his letter “Of the
Conduct of Life"?

1. Learn never to conceive a prejudice against others, because you know nothing of them
2. Never despise any one for anything that he cannot help -- least of all, for his poverty

3. Never anticipate evils, or, because you cannot have everything exactly as you wish, make them out
worse than they are, through more spite and willfulness

4. Have your own way a good deal, both in the house, and among your play-fellows, with whom you
were too fond of being a leader

Correct Answer :-

« Have your own way a good deal, both in the house, and among your play-fellows, with whom you
were too fond of being a leader



85) Which of the following is true in the context of Jane Austen’s Pride and Prejudice?

1. Caroline Bingley is jealous of Louisa Hurst’s attachment to Fitzwilliam Darcy.
2. Catherine Kitty Bennet elopes with George Wickham.
3. Mr. Edward Gardiner is the co-guardian of Georgiana Darcy.

4. Mr. Collins would inherit the Longbourn House.

Correct Answer :-
« Mr. Collins would inherit the Longbourn House.

86) Which of the following is the figurative language represented by the given lines from Alexander
Pope’s The Rape of The Lock?

"It grieves me much," replied the Peer again,

"Who speaks so well should ever speak in vain.

1. Personification
2. Metaphor
3. Verbal Irony

4. Simile

Correct Answer :-
« Verbal Irony

87) Which of the following is the commencing line of the 18" century ode that Coleridge cited in his
Biographia Literaria as an example for thoughtless personification?

1. Here recline you, gentle maid,
2. The first was a fair Maid, and Love her name;
3. Inoculation! Heavenly Maid, descend!

4, Presumptuous maid! with looks intent

Correct Answer :-

« Inoculation! Heavenly Maid, descend!

88) Which of the following options is NOT correctly matched in the context of Charles Dickens’ 4
Tale of Two Cities?



1. Ernest Defarge — a bank manager
2. Miss Pross — Lucie’s governess
3. Alexandre Manette — a French physician

4, Jerry Cruncher — an employee of Tellson's Bank

Correct Answer :-

+ Ernest Defarge — a bank manager

89) Which 18t century essayist alluded to Bacon’s essay “Of Studies” in an essay titled “Study,
composition, and converse equally necessary to intellectual accomplishment” published in 1753 in
The Adventurer?

1. James Boswell
2. John Dryden
3. Alexander Pope

4. Samuel Johnson

Correct Answer :-

o Samuel Johnson

90) Which contemporary author was responsible for the final title of Narayan’s Swamj and Friends?
1. Raja Rao

2. William Walsh

3. Mulk Raj Anand

4, Graham Greene

Correct Answer :-

o Graham Greene

91) Which text is the source for the title of Shaw’s play Arms and the Mam?
1. Appendix Vergiliana

2. Virgil’s The Aeneid

3. Virgil’s The Georgics



4, Virgil’s The Eclogues

Correct Answer :-

 Virgil’s The Aeneid

92) Which among the following is the correct order of occurrence of the parts in Anita Desai’s Bye
Bye, Blackbird?

1. Part I: Arrival, Part II: Discovery and Recognition, Part III: Departure
2. Part I: Arrival, Part II: Discovery Part III: Recognition, Part IV: Departure
3. Part I: Departure, Part II: Arrival, Part III: Discovery and Recognition
4, Part I: Discovery and Recognition, Part II: Arrival, Part III: Departure

Correct Answer :-

« Part I: Arrival, Part II: Discovery and Recognition, Part III: Departure

93) Which seasonal cycle does Northrope Frye associate Irony and Satire with in his work 7he
Anatomy of Criticisn?

1. Winter

2. Summer

3. Autumn

4. Spring

Correct Answer :-

o Winter

94) What does the ‘splendor of the scene’ remind Kunjabihari of in Tagore’s play 4 poetic mood and
lack of food?

1. A song
2. The blanket
3. The cold

4. A garden

Correct Answer :-



95) What are the two functions of cultural criticism in relation to Shakespeare’s The Tempest that
Stephen Greenblatt argued for in his essay “Culture”?

1. Shakespeare’s Jacobean culture and artists’ imagination
2. The postcolonial Caribbean and African cultures
3. Decipher the power of Prospero and hear the accents of Caliban

4. Prospero’s art and his ability to control the supernatural powers

Correct Answer :-

« Decipher the power of Prospero and hear the accents of Caliban
96) What did Shaw call his play Arms and the Man?

1. A Romantic Tragedy

2. An Epic Romance

3. An Anti-romantic Tragedy

4. An Anti-romantic Comedy

Correct Answer :-
« An Anti-romantic Comedy

97) This particular collection of essays which appeared in 1824 in The New Monthly Magazine
represented significant trends in the thought, literature, and politics of the author’s time.

Which is the work that is referred to here?
1. The Spirit of Age: Or, Contemporary Portraits.
2. Sartor Resartus

3. Household Words

4. Peter Plymley's letters and selected essays

Correct Answer :-

» The Spirit of Age: Or, Contemporary Portraits.



98) Which among the mythological characters is NOT listed by Bacon in his essay “Of Friendship”
who according to the essayist ‘falsely and feignedly’ sequestered the self for a higher conversation?

1. Epimenides the Candian
2. Apollonius of Tyana

3. Thales of Miletus

4, Numa the Roman

Correct Answer :-

o Thales of Miletus

99) Fill in the line choosing the correct phrases.

w

and still though pourest, and still there is to fill”.

1. Ages pass, room
2. Ages Pass, word
3. Life pass, room

4. Life pass, word

Correct Answer :-

« Ages pass, room

100) “Whosoever is delighted in solitude, is either a wild beast or a god”. — These lines are reflected
in “Of Friendship” by Bacon. From where did Bacon take this line from?

1. Spenser’s Ianbicum Trimetrum
2. Aristotle’s Politics
3. Virgil's Aeneid

4. Qvid's Metamorphosis

Correct Answer :-

o Aristotle’s Politics



